

i.e Rupees One Crore Twenty Eight Lakhs Forty-four Thousand Three Hundred Seventy Five Only.

In this Agreement, Words and expression shall have the same meanings as are respectively assigned to them in the Condition of contract hereinafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.

Duleshul Postesineer 22 18WD(W), Baisi

NOW THIS AGREEMENT WITHNESSETH as follows: 23

NOW THIS AGREEMENT WITHNESSETH as follows:-

- The following documents shall be deemed to form and be ready and construed as part of this Agreement, Viz.
 - Letter of Superintending Engineer RWD works Circle, Purnea
 - BOQ Approved
 - Original Agreement

Signed Sealed and Delivered by the said

It is expressly acknowledged and agreed by both parties that this supplementary agreement is intended to address specific aspects related to the GST claim, rest portion of execution, and maintenance of road, and it shall not in any way alter, modify, or affect the terms and conditions stipulated in the original agreement dated [Original Agreement Date]

The original agreement remains in full force and effect, and any provisions not explicitly addressed in this supplementary agreement shall be governed by the terms of the original agreement.

In witness where of, the parties hereto execute this non-impact statement on the date first above written.

2.	Deduction: - I.T, GST, Royalty & all other deduction will be deduced form each bill as per Gove
	rule.
	In witness whereof the parties thereto have caused this Agreement to be executed the day and year
	first before written
	The Common Seal of
	Was hereunto affixed in the presence of

In the presence of:

By plan

Binding Signature of Contractor

23/3/2 KVHIMAN GRESTURE of Employer



Special Term Deposit Advice

(In lieu of Special Term Deposit Receipt)

Date: 16/01/2024

Dear Sir/Madam,

We have pleasure in confirming your deposit held with us, the details of which are as shown below.

Your FD account number is 42617053687 . Please quote this in all correspondences.

Thank you for banking with SBI.

A. Customer Name - MD TAKSIR ALAM

CIF Number

Mode of Operation

Scheme

81543346448

SINGLE

STD-PUB IND UNI 181D-10YRS

Maturity Instruction

Frequency of Interest Payment

Credit Interest & Maturity Proceeds to (A/c)

Auto Renewal At M

At Maturity

33618794442

Nomination Registered

Nominee(s), if any

AJMERI KHATOON

DR/STDR A/c No.	Tenure	Interest Rate	Principal Amt.	Value Date	Maturity Date	Maturity Value
42617053687	5 Year(s), 0 Month(s), 0 Days(s)	6.5 %	INR 20000	16/01/2024	16/01/2029	INR 27608
			~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	-		

## Terms & Conditions for TDR/STDR

Please inform us of any change in your Resident/Non-Resident status as and when such change takes place. The status decacount opening form shall remain in force until such time as a change is advised to us.

2. In case of premature payment the deposit represented by this advice shall be subject to penalty provisions at the rates decided by the bank from time to time.

- 3. Bank will deduct Income Tax as per the law applicable and in case no tax is to be deducted, Form 15G/H has to be submitted by the depositor to the branch just after opening the FD and at the beginning of the Financial Year in the subsequent Financial Years. The facility for online submission of Form 15G/H is also available in the INB platform (onlinesbi.com) of the bank.
- 4. FD with additional rate of interest for senior citizens will be issued if option for "Senior Citizen" is given by the customer and age of customer is 60 Yrs or above, on the date of creating the fixed deposit, as per date of birth recorded with the Bank. The minimum days and minimum amount applicable for additional rate of interest for senior citizen will be as per Bank's policy.
- 5. FD will be disposed of according to the Maturity Instruction given at the time of opening the deposit. In case of auto renewal, the deposit will be renewed for the same duration for which it was originally kept, at the rate of interest prevailing on the date of renewal for that duration. If auto renewal instruction are given, the instructions will continue to be executed till terminated by the account holder.
- 6. As per section 206AA introducedby Finance (No. 2) Act, 2009 effective April 01, 2010, every person who recieves income on which TDS is deductible shall furnish his PAN, failing which TDS shall be deducted at the rate of 20% in case of Domestic deposits and 30.90% in case of NRO deposits.
- 7. Additionally, in the absence of PAN, Form 15G/H and other exemption certificates will be invalid even if submitted & penal TDS will be applicable. Kindly visit your SBI branch with your PAN card (original & copy) to get the same updated on the bank records.

EERWD Works Devision Bailsé

Pledge

FAXIR (0) 16 01 2024

231312WD(W),Baisi

## बिह्यर सरकार अधीक्षण अभियंता का कार्यालय, ग्रामीण कार्य विभाग, कार्य अंचल, पूर्णियाँ।

पत्रांक 1699 (अ.५०) 1640 Q

पूर्णियाँ / दिनांक ....2 / 1.2 / 2023

प्रेषक,

अधीक्षण अभियंता. ग्रामीण कार्य विभाग, कार्य अंचल, पूर्णियाँ।

सेवा में,

कार्यपालक अभियंता. ग्रामीण कार्य विभाग. कार्य प्रमंडल, बायसी।

विषय :- पुनरीक्षीत परिमाण विपत्र स्वीकृत करने के संबंध में।

प्रसंग :- आपका पत्रांक 1869 दिनांक 07.11.2023

महाशय,

उपर्युक्त विषयक प्रासंगिक पत्र के आलोक में सूचित करना है कि निम्नांकित पथों के स्वीकृत प्राक्कलन में 12% GST प्रावधान था, जबकि सरकार के पत्रांक 3322 दिनांक 05.12. 2022 द्वारा GST 12% से बढ़ाकर 18% GST किए जाने के फलस्वरूप अपके द्वारा समर्पित GST प्रस्ताव की स्वीकृति दी जाती है। कार्यपालक अभियंता यह सुनिश्चित करेंगे की संवेदक द्वारा

क्रoसंo	पथ का नाम	पुनरीक्षित परिमाण विपत्र की राशि (लाख में) (-0-11 7-)	पूर्व में अनुमोदित परिमाण विपत्र की राशि (लाख में) (~ 0.11 रो-)	पुनरीक्षित परिमाण विपत्र की राशि (लाख में)	
1	PMGSY Road to Hatua Bhuna	12844375.00	12202858.00	641517.00	

विश्वासभाजन अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल, पूर्णियाँ।

**Executive Engineer** RWD(w), Baisi

ing Authority: Engg-in Chief RWD Pac Name of Work: Constru	Name of Work: Construction of Road & CD Works Under:			
741SA	DIVISION:- BAISI			
BAISA		Excess (+)	%	

BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the r is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

Description of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. I
	der Lili		Figure	The state of the state of
Providing & Fixing of Working benchmark/Refrence pillars 01 nos. per km & 04 Nos. of reference pillars required for 1 Km. as per drawings given and direction of E/I Benchmark Piller 01. Nos. Per Km.	1.250	Km	36048.120	45060.150
Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass ,bushes ,shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification - clause 201.1 and direction of E/I				
	0.438	Нас.	56128.910	24584.460
Construction of embankment with approved material deposited from road way cutting and excavation from drain and foundation of other structures and excavated with an average lead of 100 m graded and compacted to meet requirement of tables 300.1 and 300.2 as per technical specification clause 301.5 (Including Royality & Labour Cess).				
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0.000	Cum	0.000	0.000
For 1000 m Lead	3084.930	Cum	166.350	513178.110
For 100 m Lead  Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including Royality & Labour Cess).	2937.810	Cum	233.180	685038.540
Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve th desired density, complete as per Technical Specification Clause 401. (Grading I Material)	1022.630	Cum	3363.750	3439871.660

Executive Engineer RWD(W), Baisi

Ti	sintian of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. F
_				Figure	
a s t r	providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform hickness, hand packing, rolling with smooth wheel coller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	355.080	Cum	4107.110	1458352.620
1	Providing and applying primer coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.90- 1.2 kg/sqm using mechanical means as per Technical Specification	4734.380	Sqm	54.320	257171.520
	Clause 502.  Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface tretaed with Primer and clened with hydriloc broom as per technical specification aclouse 503.	4734.380	Sqm	18.180	86071.030
	Providing, laying and rolling of close-graded premix surfacing material of 20 mm thickness composed of 11.2 mm to 0.9 mm (Type-A) or 13.2 mm to 0.9 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509	4734.380	Sqm	232.690	1101642.880
	Providing and laying of a reinforced cement concrete pipe duct, 300 mm dia, across the road (new construction), extending from drain to drain in cuts and toe of slope to toe of slope in fills, constructing head walls at both ends, providing a minimum fill ofgranular material over top and sides of RCC pipe as per IRC:981997, bedded on a 0.3 m thick layer of granular material free of rock pieces, outer to outer distance of pipe at least half dia of pipe subject to minimum 450 mm in case of double and triple row ducts, joints to be made leak proof, invert level of duct to be above higher than ground level to prevent entry of water and dirt, all as per IRC: 98 - 1997 and approved drawings.	37.500	Rm	1621.440	60804.000
	Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703.		45		
					5155,840

Executive Engineer RWD(W), Baisi

DARCELINION	No. or Qly.	Unit	Estimated Kate	AMOUNT Rs. P
	4.7		Figure	
200 m Kilometer Stone (Precast)	5.000	Nos.	711.830	3559.150
Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board: Providing and fixing of Semi reflective cautionary, mandatory and fixing of Semi reflective cautionary, mandatory sign board as per IRC:67 made of				19547 550
600 mm equliateral & triangle	5.000	Nos.	3708.710	18543.550
600 mm Circular	3.000	Nos.	4925.860	14777.570
800 mm X 600 mm rectangular	5.000	Nos.	6813.880	34069.400
coo mm X 450 mm rectangular	3.000	Nos.	4801.270	14403.800
Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free from streaks and holes.				
Road Marking On BT	250.000	Sqm	730.380	182595.000
Reinforced cement concrete M15 grade Boundary	24.000	Nos.	523.770	12570.360
fixing in position including painting and printing,  Providing and erecting direction and place identifications of semi reflective sign boards as per IRC:67 made of 2 mm thick M.S. Sheet duly stove enameled paint in white colour in front and grey colour on back with red reflective border of 70 mm	5.000	Nos.	11833.280	59166.400
width and required message, letters, figures with Planting of tree by the road side (Avenue Tree) in 0.6 m dia holes, 1 m deep dug in the Ground, Mixing the soil with decayed farm yard / slug manure, panting the saplings back filling the trench, watering fixing the tree guard & Maintenance the plant for	63.000	Each	842.360	53068.680
One Year.  Half Brick Circular Tree Guard, in 2nd class brick, interbnal diametre 1.25 metres, and height 1.2 metre above ground 0.20 metre below ground bottom two courses laid dry, and top three courses in cement mortar 1:6 (1 cement 6 sand and the intermediate courses being in dry honey comb masonry as per	63.000	Each	1566.340	98679.420
design complete.  Providing and fixing of typical MMGSY informatory sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame		Nos.	9972.850	49864.250
Earthwork in excavation for structures as per drawing and technical specifications Clause 305.1	89.394	Cum	323.430	28912.700
including setting out, construction of shoring and PCC M-15 (PCC 1:2.5:5) Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	13.785	Cum	6336.270	87345.480

Que

Executive Engineer RWD(W), Baisi

a seinfield of Work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs.	
	72 (A) 158-5		Figure	A STATE OF THE STA	
Plain/reinforced cement concrete (M-20) in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204	107.133	Cum	7380.560	790701.530	
providing and laying reinforced cement concrete pipe NP3 for culverts on first class bedding of PCC - 10 material in Single Row including fixing collar with cement mortar 1:2 but excluding excavation, protection works, backfilling, concrete and masonry works in head walls and parapets as per Clause 1106.	22.500	Rm	6474.280	145671.300	
Painting Parapet Wall (Blact & White Strip) painting two costs including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered / concrete surface as per drawing and Technicals Specification Clause 1701	61.290	Sqm	103.040	6315.320	
Total Cost of Construction =	170	Rs	I will use	9277239.620	1
Add GST @ 18%		Rs		1669903.13	_
Add Labour Cess @ 1%		Rs	Page 1	92772.40	_
Add Seigniorage Fee @ 10%	Tables IV	Rs		118150.850	-
Total Construction Cost (A)	K	Rs		11158066.400 11145793.00	17
As per Aggrement Below 0.11 %		Rs	and the	11143793.00	_
Five Years Maintenance	1000		4,000	TO TO TO 000	
Maintenance for I st Year	1.000	Year	59737.000	59737.000	1.7
Maintenance for II nd Year	1.000	Year	120615.000	120615.000	
Maintenance for III rd Year	1.000	Year	421099.000	421099.000	
Maintenance for IV th Year	1.000	Year	293654.000	293654.000	
	1.000	Year	531380.000	531380.000	
Maintenance for Vth Year	1.000	/ Rs /	17	1426485.000	
Total Cost		44	137	256767.30	
Add GST @ 18%	-	Rs	Consider.	14264.85	
Add Labour Cess @ 1%		Rs	200	195 -	
Add Seigniorage Fee @ 10%		Rs	1000	2936.280	
Total Cost of (B) (inRs.)=		Rs	- selection	1700453.000	CT.
As per Aggrement Below 0.11 %	6/0	Rs		1698582.50	
Total Cost of Project A+B (inRs.)=		Rs		12844375.000	

J.E. J.E.

S.E.

E.E. Buthan

Executive Engineer

RWD(w), Baisi

A.A. vide letterno. 311 dt 5/3/21 AA amount = Roll 515 laws X encrease from A:A: = 15.18 %.

· B.O.D. revised de to Gis. enhancement 12% to 18%.

Revised B.O. D. approved for amount Rs 128,44,375.00 (Rupey one crose twenty eight law forty four thousand Ance hundred & seventy five ) only.

> अधीक्षण अभियंता ग्रामीण कार्य विभारा कार्य अंचल,पूर्णियाँ 02/12/2023

Executive Engineer RWD(W),Baisi

11.D